EIGER VY ICLI-1H Dezimalzahlen | Rechnen mit Dezimalzahlen

Verbindung der 4 Grundrechnungsarten

Level 1 - Léosungsblatt

7,2-(68+3,2) = 72 (56+24)-49 = 16,5

=72-10 = =8-49 =

=72 o = 39,2 42,7
32 39,2

0,5 ' (4'5 - 0,5) = 4 (716 - 112) ' 018 = 9,16

=05-4= =6,4-08=

-9 2 =512 6,81

8 5,12

37+(29+72)= 145 | (86—35)—-05= 4,6

=3,7+10,1 = =51-05=

=13,8 138 | _456 5,2
12,8 3,7

3,75+ (7,4 = 2,7) = 8,45 (12,5+7,6) — 3,25 = 14,75

=3,75+4,7 = =20,1-3,25 =

= 8,45 7,25 = 16,85 15,65
8,55 16,85

45-104+6,1-100 = 515 8:-03—6:5= 2,4

=454+ 610 = =24—-12=

= 645 645 | 12 1.2
655 1,8

1,6:4+55-7= 36,7 22+3-41+56= 22,4

=04+ 38,5 = =22+123+5,6 =

= 38,9 38,9 =20,1 21,9
35,5 20,1
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